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ESERCIZIO N. 1.
Si calcolino i seguenti limiti:

a) lim
x→0

|3x − 1| − |3x + 1|
x

; b) lim
x→0

√
2 + x2 −

√
2 − x2

x2
;

c) lim
x→2

(
1

x − 2
− 4

x2 − 4

)
; d) lim

x→1

x2 − 1
x2 − 2x + 1

;

e) lim
x→8

x
2
3 − 4

x
1
3 − 2

; f) lim
x→+∞

x
√

x + 1
(
1 −

√
2x + 3

)
7 − 6x + 4x2

.

ESERCIZIO N. 2.
Si calcolino i seguenti limiti:

a) lim
x→+∞

√
x2 + x − x; b) lim

x→2

sin2(πx)
x2 − 4x + 4

;

c) lim
x→+∞

x(
√

xα + 1 −
√

xα − 1); α ∈ IR, α ≥ 0; d) lim
x→0

(
1 +

x

2

) 1
2x

e) lim
x→+∞

(
log

(
x2

x + 1

)) 1
x

; f) lim
x→0

2x − 3x

x
;

g) lim
x→−∞

x( 4
√

x4 + x2 − 4
√

x4 − x2); h) lim
x→0

log(3x + 1) − log 2
x

.

ESERCIZIO N. 3.
Si calcolino i seguenti limiti:

a) lim
x→0

√
1 − cos x − x2

√
1 − cos x + x2

; b) lim
x→0

(sinx + cos x)
1
x ;

c) lim
x→+∞

sin(
√

x + 1 −√
x)√

tg( 1
x )

; d) lim
x→0

log(e + tg2x) − ex2

x2
;

e) lim
x→+∞

x2(log(x2 + x + 1) − log(x2 + x − 1)); f) lim
x→+∞

[
cos(x4e−x)

]x
;

g) lim
x→0

f(x) se è noto che |f(x)| ≤ sin2 x per ogni x ∈] − 1, 1[.

SOLUZIONI
Es. 1:
a) −6, b)

√
2

2 , c) 1
4 ,

d) ∞; e) 4; f) −
√

2
4 .

Es. 2:
a) 1

2 ; b) π2; c) 0 se α > 2, 1 se α = 2, +∞ se 0 ≤ α < 2;
d) 4

√
e; e) 1; f) log 2

3 ;
g) − 1

2 ; h) log 3
2 .

Es. 3:
a) 1; b) e (si osservi che sin x + cos x =

√
1 + 2 sinx cos x); c) 1

2 ;
d) 1

e − 1; e) 2; f) 1; g) 0.


